Radhasoami Dayal Ki Daya Radhasoami Sahai

AIR QUALITY MONITORING @ 40 FEET HEIGHT — Report Date: 30.11.2021
(BASED ON US-EPA AQI STANDARDS AND THE DAYALBAGH AQI COLOUR CODE)

Permissible Limits (24 Hour Mean): PMo = 150; PM2s= 35, all units are in uyg/m?
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Views of AQl Group: Westerly winds at Dayalbagh Vs Easterly winds at Sanjay Place account for marginally
higher PM10.0 AQI at Dayalbagh. RH at Dayalbagh continues to be high compared to Sanjay Place.

Remarks of Chairman-ACE Today:
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NOTE: 1 A continuous study conducted as part of Dayalbagh Sigma Six Qualities and Values Model implementation.

2 DEl is using United States Environmental Protection Agency (USEPA) methodology and online calculators to calculate AQI. For fair comparison with UPPCB Sanjay Place Weather Station readings,
their PM2s concentration readings are fed in USEPA online calculator for AQI calculation.
3 Formula for AQI calculation for a Pollutant -
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where, | = Air Quality Index, C=Pollutant Concentration (PM2.5), Clow=Concentration Breakpoint <C, Chigh=Concentration Breakpoint 2C, llow=Index Break point

| % corresponding to Clow, lhigh=Index Breakpoint corresponding to Chigh
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